
les rois opérations ! défi CM

Fiches élèves ADDITIONS
Pose ces opérations et calcule :

A

a/ 809 + 2,102 + 89 =
b/ 710 + 5,09 + 58 =
c/ 243,84 + 8 + 12 =
d/ 443 + 3,546 + 46,32 =

B

a/ 682 + 4,905 + 24 =
b/ 579 + 7,753 + 95 =
c/ 470,05 + 5,7 + 85 =
d/ 326 + 6,134 + 32,25 =

C

a/ 845 + 3,758 + 80 =
b/ 957 + 3,14 + 22 =

c/ 42,017- 19,5 =
d/ 71,672- 62,27 =

D

a/ 62,03- 21,7 =
b/ 57,48- 47,011 =
c/ 35,911- 23,9 =
d/ 49,1- 29,7 =

E

a/ 69,57- 63,104 =
b/ 42,51- 36,53 =
c/ 56,2- 48,5 =
d/ 17,66- 11,2 =



les rois opérations ! défi CM

Corrections ADDITIONS

A

a/ 809 + 2,102 + 89 = 900,102
b/ 710 + 5,09 + 58 = 773,09
c/ 243,84 + 8 + 12 = 263,84
d/ 443 + 3,546 + 46,32 = 492,866

B

a/ 682 + 4,905 + 24 = 710,905
b/ 579 + 7,753 + 95 = 681,753
c/ 470,05 + 5,7 + 85 = 560,75
d/ 326 + 6,134 + 32,25 = 364,384

C

a/ 845 + 3,758 + 80 = 928,758
b/ 957 + 3,14 + 22 = 982,14
c/ 956,85 + 2,6 + 68 = 1027,45

C
a/ b/ c/ d/

46 ,3 83 ,9 42 ,017 71 ,672
- 11 ,73 - 34 ,503 - 19 ,5 - 62 ,27

34 ,57 49 ,397 22 ,517 9 ,402

D
a/ b/ c/ d/

62 ,03 57 ,48 35 ,911 49 ,1
- 21 ,7 - 47 ,011 - 23 ,9 - 29 ,7

40 ,33 10 ,469 12 ,011 19 ,4

E
a/ b/ c/ d/

69 ,57 42 ,51 56 ,2 17 ,66
- 63 ,104 - 36 ,53 - 48 ,5 - 11 ,2

6 ,466 5 ,98 7 ,7 6 ,46



les rois opérations ! défi CM

Fiches élèves ADDITIONS
Pose ces opérations et calcule :

A

a/ 716 + 6,878 + 11 =
b/ 670 + 6,347 + 29 =
c/ 644,7 + 9,5 + 82 =
d/ 986 + 5,378 + 62,93 =

B

a/ 998 + 6,32 + 65 =
b/ 740 + 6,931 + 39 =
c/ 499,02 + 3,7 + 54 =
d/ 763 + 7,126 + 75,39 =

C

a/ 594 + 9,463 + 49 =
b/ 830 + 9,611 + 52 =

c/ 79,85- 32,82 = 47,03
d/ 89,18- 71,5 = 17,68

D

a/ 15,6- 14,02 = 1,58
b/ 98,311- 39,877 = 58,434
c/ 58,8- 34,8 = 24
d/ 16,2- 2,2 = 14

E

a/ 82,99- 52,82 = 30,17
b/ 69,172- 62,39 = 6,782
c/ 39,5- 7,93 = 31,57
d/ 79,7- 35,2 = 44,5



les rois opérations ! défi CM

Corrections ADDITIONS

A

a/ 716 + 6,878 + 11 = 733,878
b/ 670 + 6,347 + 29 = 705,347
c/ 644,7 + 9,5 + 82 = 736,2
d/ 986 + 5,378 + 62,93 = 1054,308

B

a/ 998 + 6,32 + 65 = 1069,32
b/ 740 + 6,931 + 39 = 785,931
c/ 499,02 + 3,7 + 54 = 556,72
d/ 763 + 7,126 + 75,39 = 845,516

C

a/ 594 + 9,463 + 49 = 652,463
b/ 830 + 9,611 + 52 = 891,611

C
a/ b/ c/ d/

76 ,621 73 , 79 ,85 89 ,18
- 20 ,06 - 42 ,913 - 32 ,82 - 71 ,5

56 ,561 30 ,087 47 ,03 17 ,68

D
a/ b/ c/ d/

15 ,6 98 ,311 58 ,8 16 ,2
- 14 ,02 - 39 ,877 - 34 ,8 - 2 ,2

1 ,58 58 ,434 24 , 14 ,

E
a/ b/ c/ d/

82 ,99 69 ,172 39 ,5 79 ,7
- 52 ,82 - 62 ,39 - 7 ,93 - 35 ,2

30 ,17 6 ,782 31 ,57 44 ,5



les rois opérations ! défi CM

Fiches élèves ADDITIONS
Pose ces opérations et calcule :

A

a/ 488 + 3,087 + 36 =
b/ 347 + 6,686 + 57 =
c/ 788,24 + 3,8 + 77 =
d/ 841 + 2,305 + 48,68 =

B

a/ 683 + 8,651 + 28 =
b/ 518 + 6,109 + 51 =
c/ 283,36 + 2,8 + 93 =
d/ 870 + 5,922 + 80,13 =

C

a/ 490 + 2,94 + 98 =
b/ 628 + 9,144 + 95 =

c/ 19,8 - 9,6 =
d/ 75,35- 15,23 =

D

a/ 17,91- 10,12 =
b/ 69,675- 19,13 =
c/ 28,3 - 8,9 =
d/ 15,03- 7,8 =

E

a/ 59,58- 12,22 =
b/ 59,2 - 54,7 =
c/ 95,34- 19,1 =
d/ 46,7 - 33,8 =



les rois opérations ! défi CM

Corrections ADDITIONS

A

a/ 488 + 3,087 + 36 = 527,087
b/ 347 + 6,686 + 57 = 410,686
c/ 788,24 + 3,8 + 77 = 869,04
d/ 841 + 2,305 + 48,68 = 891,985

B

a/ 683 + 8,651 + 28 = 719,651
b/ 518 + 6,109 + 51 = 575,109
c/ 283,36 + 2,8 + 93 = 379,16
d/ 870 + 5,922 + 80,13 = 956,052

C

a/ 490 + 2,94 + 98 = 590,94
b/ 628 + 9,144 + 95 = 732,144

C
a/ b/ c/ d/

30 ,06 41 ,6 19 ,8 75 ,35
- 23 ,38 - 13 , - 9 ,6 - 15 ,23

6 ,68 28 ,6 10 ,2 60 ,12

D
a/ b/ c/ d/

17 ,91 69 ,675 28 ,3 15 ,03
- 10 ,12 - 19 ,13 - 8 ,9 - 7 ,8

7 ,79 50 ,545 19 ,4 7 ,23

E
a/ b/ c/ d/

59 ,58 59 ,2 95 ,34 46 ,7
- 12 ,22 - 54 ,7 - 19 ,1 - 33 ,8

47 ,36 4 ,5 76 ,24 12 ,9



les rois opérations ! défi CM


